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QUESTION 1

According to SNIA, what are two valid storage tiering types? (Choose two.)
A. host tiering

B. application tiering

C. storage cache tiering

D. cloud tiering

Correct Answer: CD

QUESTION 2

Which two statements are true about archiving? (Choose two.)

A. Archiving is performed exclusively to tape.

B. Archiving is an open source technology based on Cinder and OpenStack.
C. The purpose of archiving is the long term preservation of information.

D. Archiving can be used as a response to meet regulatory requirements.

Correct Answer: CD

QUESTION 3

A physical server is having a native or bare-metal hypervisor installed before being deployed. In this scenario, which
statement is correct?

A. The hypervisor runs as a program on a host operating system and supports only one instance of a virtual server

B. The hypervisor runs directly on the server hardware and supports the creation of multiple concurrent instances of
virtual servers

C. The hypervisor runs directly on the server hardware and supports the creation of only one instance of a virtual
server.

D. The hypervisor runs as a program on a host operating system and supports multiple concurrent instances of virtual
servers.

Correct Answer: B

QUESTION 4

What should a valid iSCSI qualified name include?
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A. the iSCSI string

B. date code, in yyyy-mm format
C. the WWN string

D. initials of company name

Correct Answer: B

QUESTION 5
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Which software technique reduces the effects of a hardware component failure?

A. multi-pathing

B. LUN masking

C. volume management
D. zoning

Correct Answer: A
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